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I. Reading Comprehension: In this part of test, you will find four
passages. Each passage will be followed by several questions. You are to
choose the best answer, A, B, C or D, to each question on the basis of the
information provided or implied in the passage. Then, mark your answer
on your answer sheet.

(BI=EMER)  60%

Everyone knows that when a thunderstorm approaches, one should
find a safe place and stay there until the storm passes. Everyone knows
this, but cows don’t. v

Recently in Denmark, 31 dairy cows sheltering under a tree were
killed by a single strike of lightning. The unfortunate owner cried upon
learning of the tragedy, but, as they say, “you can’t cry over split milk,”
All farm animals should be protected inside buildings during
thunderstorms. A field with or without trees is a dangerous place during
a storm, for humans and cows alike.

1. What would be a good title for this passage?
(A) Cows Killed by Owner
(B) Cows Produce Less Milk during Storms
(C) Lightning Causes Dairy Cow Deaths
(D) Summer Thunderstorms in Denmark
2. What does “you can’t cry over split milk” mean?
(A) We should prevent tragedies before they happen.
(B) The dairy business is full of tragedies.
(C) Nothing can be done to prevent tragedies.
(D) When you are sad, a glass of milk will cheer you up.
3. What can we learn from the passage?
(A) One should not go outside during summer.
(B) Dairy farmers do not take good care of their animals.
(C) Itis best to avoid visiting Denmark in summer.
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(D) People and animals should take proper shelter during storms.

NewTech Equipment Company announced that it expects to cut.
4,000 jobs within the next six months in Brazil as part of its strategy .
to reorganize its money-losing business. NewTech has been struggling
to make a profit after two years of losses worldwide. /

The reduction in its labor force comes as surprise to business
analysts, who had been impressed with the performance of the
company in recent months. Although its revenues have not matched
those of its first two years of business, they had been increasing
steadily since June. ’

New competition was blamed for this loss of revenue, but sources
close to the company place the blame on the lack of direction from
the chairman of the company, Pierre Reinartz. Mr. Reinartz has been
with the company for only a year, and he will probably resign soon.

It is expected that Elizabeth Strube, the current V.P. of the company,
will succeed him. Ms. Strube was responsible for opening the
international offices, which have been more profitable than those in
Brazil. NewTech employs about 25,000 people in Brazil, another
20,000 in Asia, and 10,000 in Europe. The international offices will
not be affected by the staff reductions.

. Why will NewTech cut jobs locally?

(A) To be more profitable

(B) Because it is moving overseas

(C) Because labor costs have gone up

(D) Because Chairman Reinartz directed it

. How long has NewTech been losing money?

(A) Six months

(B) One year

(C) Avyearand a half

(D) Two years

. The word reveues in paragraph 2, line 7, is closest in meaning to
(A) sales

(B) earnings

(C) products

(D) expenses

. What describes the international branches of NewTech?
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(A) They earn more money than the Brazilian office.
(B) They are less cost-effective.

(C) They are older than the Brazilian branch.

(D) They will be closed within six months.

The Chinese outnumber any other people on this planet and they
are also the most widely distributed ethnic group on earth, but they
are perhaps among the least-known and least-understood people in
the world, too.

Some of this is undoubtedly due to their innate sense of privacy
and a certain reluctance to let themselves be known by strangers, in
addition to the position of the modern Chinese in China who have
been secluded behind a “bamboo curtain” of political isolation which
is only now beginning to be drawn aside. :

However, a much more cogent reason for this is the fact that most
non-Chinese have not stopped to look at all closely the Chinese
around them. Anthropologists do study Chinese society but then they
share their knowledge largely with other members of the academic
community. Political students look at Singapore, Hong Kong, China
and Taiwan and speculate about the future of these areas. Classical
Chinese scholars immerse themselves in the writing of the long-dead
poets of the Golden Age or consider the works of Confucius. The
harsh fact is that all these carful studies have as much to do with the
average life of a Chinese as the study of Shakespeare does with the
life of a Yorkshire miner.

8. What is the main point of this paragraph?
(A) There are many Chinese in the world.
(B) Outsiders know surprisingly little about the Chinese.
(C) The Chinese are not interesting.
(D) Experts on China are incompetent.

9. The author criticized Classical Chinese scholars because
(A) their work is not known outside of China.
(B) they ignore Western writers like Shakespeare.
(C) their work is not relevant to modern Chinese life.
(D) they are money-oriented.

10.This paragraph probably comes from a book about
(A) political science.




(B) classical scholarship in China.
(C) population studies.
(D) Chinese culture.

It’s plain common sense—the more happiness you feel, the less
unhappiness you experience. It's plain common sense, but it’s not
true. Recent research reveals that happiness and unhappiness are not
really flip sides of the same emotion. They are two distinct feelings
that, coexisting, rise and fall independently.

“you’d think that the higher a person’s level of unhappiness, the
lower their level of happiness and vice versa,” says Edward Diener, a
University of lllinois professor of psychology who has done much of
the new work on positive and negative emotions. But when Diener
and other researchers measure people’s average levels of happiness
and unhappiness, they often find little relationship between the two.

The recognition that feelings of happiness and unhappiness can
coexist much like love and hate in a close relationship may offer
valuable clues on how to lead a happier life. It suggests, for example,
that changing or avoiding things that make you miserable may well
make you less miserable but probably won’t make you any happier.
That advice is backed up by an extraordinary series of studies which
indicate that a genetic predisposition for unhappiness may run in
certain families. On the other hand, researchers have found,
happiness doesn’t appear to be anyone’s heritage. The capacity for
joy is a talent you develop largely for yourself.

11. In the first paragraph, the author is trying to emphasize that
common sense _____
(A) is always dependable
(B) could be wrong
(C) helps our life a lot
(D) does not make any sense
12. The phrase “vice versa” appearing in the second paragraph means
(A) and so on
(B) a bad quality in a person
(C) the opposite of something is also true
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(D) a person’s social position
13. In the last sentence of the second paragraph, what does “ the two”
refer to?
(A) Professor Diener and his colleague.
(B) Positive and negative emotions.
(C) Love and hate.
(D) Happiness and unhappiness.
14. According to the passage, the capacity for happiness is one that
(A) you might have to work hard to attain
(B) you inherit from you parents
(C) you must learn from talented people
(D) you were born with
15. Unhappinessisa(n) ____ feeling.
(A) negative
(B) positive
(C) ambiguous
(D) universal

[l.  Translate the following paragraphs into Chinese. (Efiz%) 40%

1. South Korean President Park Geun-hye said Monday that the
captain and some crew members of the sunken ferry committed
"unforgivable, murderous behavior" in the disaster, which left
more than 300 people dead or missing.

2. Poland's defense minister has said US ground forces will be
sent to Poland to expand NATO's presence there as events
continue to unfold in neighboring Ukraine, The Washington Post
reported.

3. Japanese Prime Minister Shinzo Abe visited a shrine on Dec. 26
that is seen by critics as a symbol of Tokyo's wartime aggression,
infuriating China and South Korea and prompting concern from
the United States about deteriorating ties between the North
Asian neighbors.




4. Kerry, who was on a trip aimed at shoring up ties with Southeast
Asia, said the U.S. would provide US$32.5 million to help
regional nations including Vietnam patrol "territorial waters".
"Peace and stability in the South China Sea is a top priority for
us," Kerry said, adding that "no region can be secure in the
absence of effective law enforcement in territorial waters".




